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(B) Effective EPE, = » Effective EE, X Aty
k=1
(that is, effective EPE is the time-weighted average of effective EE where the weights are

the proportion that an individual effective EE represents in a one-year time interval)

where:
() EffectiveEE, = max (Eﬁ'ectiveEE,k_l ,EE, ) (that is, for a specific date t,

effective EE is the greater of EE at that date or the effective EE at the previous date); and
(2) txrepresents the k™ future time period in the model and there are n time periods

represented in the model over the first year, and



